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4. Wt 9¥A A € | v@® uvd #i afumEar 1 AFE A E | THA IWF

fere aiw &t Frer s

All questions are compulsory. Each question carries 1 mark.

No marks will be deducted for wrong answer.

5. OMR IW 5% & U8 | | wed adt vl % wrgEs @ aur 9%

IR Hd |

Read the instructions provided on page 1 of the OMR Answer

Sheet carefully and do accordingly.

FA-WRE FHeTH T ol TaENT e | Ufget &1 wa afed &1

Y We # WK foeea (A, B, C, D) i T ¥ i } W Iugw I
# AT AT OMR I U W -3 TR 1o & | eft A1 Hren

Four options ( A, B, C, D) are given for each question. You have
to darken duly the most suitable answer on your OMR
Answer Sheet. Use only Blue of Black Ball-Point Pen. The use of

Pencil is not allowed.

( OMR 3¢ 5% W 3 R frdwil &7 aarges qee &t
QAT ATTHT OMR I TAH mmﬁtmﬁﬁaﬂﬁﬁw& |

" Adhere to the instructions provided in the OMR Answer Sheet
very carefully otherwise your OMR Answer Sheet will be invalid
and it will not be evaluated.
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Which is the simplest type of motion ?

Al Circular motion (B) Straight line motion

.t

(€} Square motion (D)  All of these

TOTTRIOm W 4 Wl o 0 41w ) e @ 2

(AL 432 m/s .
(B) 4 m/
- T

{C) 4cm/s

T

D) 3.4 m/s
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An object covers a distance of 16 m in 4 sec. What will be the

speed of the object ?
A)  432m/s B) 4m/s
(C) 4cm/s {D) 34m/s

3. IR cwmw Am, v v H omf wn A w w e @ @
(A) C=V-2 B c=v

A8 c=va (D) ¥ & w7
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If the velocity of a wave is C, the frequency of the wave is Vand

the wavelength of the wave is A then

A) C=V-2a B) C=V/A

(C) | C=Va | (D) none of these

4. @ T IO A IqT A R 2

(A)  wHw ®) fmw

(é} HUA (D)  3TqEdq
What is the cause of producing sound ?
(A)  Friction (B) Diffusiop

(C) Vibration (D)  Refraction
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5. ﬂﬁ%{ﬂa’gmmmmﬂ,aﬁwﬂ ZEAUTA FI1 EIT
X)) 10 kg (B)  98kg
(C)  Skg (D) 8keg
If the weight of an object is 49 N, what will be its mass ?
(A) 10 kg (B) 9-8 kg
(C) Skg (Dl' 8 kg
6. fom A g% w9 & fina gu fis g0 @ i 1€ g gurqEd =i 2
(A) R % 3o T
(B) fis % goauE &

) T awgsal®

D) T & aft
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The distance travelled by the body falling free from rest is

proportional to
(A) total timé of falling
(B) t‘he mass of the body
(C)  square of the time of fall
(D)  all of these
7. N9 g T Ty Weetww § uiafia s a2
(&) T I, Tl vt
(B) T i, webrer St F
(C) w1 i, faga =i §
(D) Torega I, weprwr St & -
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In the photosynthesis carried out by the plant the converted

cnergy is
(A)  light energy into chemical cnergy
(B)  chemical energy into light energy
(C)  hight energy into electrical energy
(D)  electrical energy into light energy
8.  wmdumER {HP]. TS 2
A) w6 | (B) Tl H
(C) wE & (D) ¥ 8 i T
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Horsepower is the unit of

(A) Power (B) Energy

(C) Work (D) Nonc of these
0.  freft weaw i FUi 9 iU 99 g I gl B

(A) FH B arfire

© @ (A 3 () A

Higher density of particles in a medium indicates that

pressure is
(A)  Less (B) More

() Zero (D)  Both (A) and (B)
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10. TR F1 "TH T R 2
(A)  cm B m
(C) e (D) km

What is the unit of wavelength ?
(A) cm (B) m
(C) newton (D) km
11 a3 S % R e st el @ ww A €
(A) 9t © (B) WM

(C) & D)
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From where does the living organism get the energy for all the

biological processes ?
(A)  Water | (F;l
(C)  Air ' (D)
12, $H-w\ gifea 78 2 »
(A) Afewd - g
(B) IR.TE. B - T
(C) fe dumn - andan

(D) %4 § oft

AR

SCI

Food

Soil

46 of 72



Download PDF from - JACBoardSolutions.com

]Tx-(gum'rooi] JAC IX-( MTH & SCI )

Which is not matchf:d ?

(A) Celsius - Temperature
(B)  Rh factor - Blood
(C)  Richter scale - Humidity |

(D)  All of these

13. AmarR faweht & a9 6 38 &

r

(A)  Ief @ i 2 (B) I5m & e 2

(C) w=a & a1 B (D) % QA+ 7@

T . o 7
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Megawatt is a unit of measurement of electricity which

(A)  is produced’
(B) is used
(C) is saved

(D)  none of these

14. aa%mﬁnéa@ﬁwtrﬁa#qmgp

A4) T Y fewr o
(B) a7 % qfmyuy §
(C) 3mHR T

o wia e
T T
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What changes occur in the object due to the application of

force ?

(A) In the direction of speed
(B)  Quantity of velocity

(C) In shape

(D) All of these

15, M FIAESH BT ?

A m/s (B)

(C) m/s? (D)

QL

SCI

kg/s
T A B T
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16.

What is the unit of velocity ?

® m/s B kels

(C) m/s? (D) None of these

36 km/h ) 9161 ¥ T @ SR 1 YHvg § feaht gl @w HUf 2
(A) Sm (B) 10m

(€) 15m (D) 20m

What distance will a car travelling at a speed of 36 km /h cover

in 1 second ?

(A) Sm 9’ 10 m
(C) 15m (D) 20m
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17, &1 < a6t T T @1 G 8 2, T8 8
LAY Hfr‘m B) few
€ ()3 (B) D) & B T
w.:;rk which is the product of force and displacement, is
(A) Vector (B}  Scalar
(C) éoth (A) and (B) (D) None of these

18, are g Tl 1 AT R 2 |

(A) W B e

(C) 3 (D) o

M scr
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Watt is the unit of which quantity ?

(A)  Force (B) Power
(C)  Velocity (D) Density
19.  IEIIS AT H1 0 71 8 ?

(A)  1.99x107° (B) 1-99x10%?
/LQ')/ 6022 x 102 (D) 6-022x10%2
What is the value of Avogadro number ?

(A)  1-99x10% (B) 1.99x1022

(C) 6-022x10% (D)  6-022x1022

A scr
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20. FE & ITAR A Flaree & fFa guetfi & wEAm a1 R 2
(A) Co-60 (By Co-58
(C) Co - 62 | (D) ¥ & Hig AL
Which isotope of cobalt is used in the treatment of cancer ?
(A) Co - 60 (B) Co- §8
(C) Co-62 (D) None of these
21.  Farat feori & @i fead &l 2
(A)  oTHEA (B) WeswH
(C) defas 4BT TETHIE

i T scr 83 ine
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Who discovered Canal ra_*;'s ?
(A) Thomson (B) Goldstein
(C) Chadwick (D) .Rutherford
22, wered 3 shoit % o T g 2 2
(A)  TEaA B) TR ol
(C) wam D) e e
What remains between the particles of matter ?

(A)  Volume (B) Potential energy

(C) Momentum (D)  Blank space

= A scr 54 of 72
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23 LPG @ g w9 & R
(A zefga Ry A
(1) Pl qziferqu
(€)  (A) 3 (B) G
(D) %40 & &1 A
What is the full form of LPG ?
(A) Liquefied petrolcum gas
(B) Lithium petroleum gas
(C) Both (A) and (B)

(D) None of these

AR sct

IX-{ MTH & 8C1 )
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24, i i Rl sraufore e SeR afve R
AU B) &
© fd D) W
Which of the following has the largest intermolecular space ?
&) Water (B)  Air
(C) Soail D)  Fire

©25.  IWEN TS B O W R A @ 2

A} B) faue

ey ST (D)

0 0 scr
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What happenn when ammoniam chloride i heated ?

(A) Liquad (B)  Decomposition

() Sublimation (D) Condensation
20, foforse 8 wu gan zfda ¥fam Ma (Lea) Ba R

(A) - 4 B) M

© 3™ O) A W

Liquefied petroleum gas filled in cylinder is

(A)  Liquid (B) Gas

(C) Solid (D) None of these

IO sci 57 of 72
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(A) m ' B) a
(C) cm 4P) u
What is the unit of Atomic mass ?
(A) m (B) a
- (C) cm D) u

28. 18 gm Il § ATadisH i fpah g 2 2

/Lﬁl '--w4g (B) 8g

(C) 12g D) 16g

Q[ g scr
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What is the amount of oxygen in I8 gm of water ?
(A) 4g B) 8g
€ 12g (D) l16g
29.  U&k Wit a0 Ny &1 gamme R
Ay 71 g (B) 355¢g
(C) 1775 g (D) 8g
The mass of one mole chlorine gas is
(A)  71g (B) 355¢g

(C) 1775g D) 8g

VAR e
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30. f= o A 9 fg-uwmmops 48 @ 2

(A) & (B) TSGR

©  EEge (D) HIHIE

Which of the following clements is not a diatomic ?

(A)  Chlorinc (B)  Nitrogen

(C)  Hydrogen (D}  Phosphorus
31.  Wr¥fEe 4 T8 ?ﬁ?ﬂ 2

(A)  TESEE B) IS

C) T - (D) A HE

O T — o



EX-(wn/moZI JAC

............... does not occur in prokaryote.

Download PDF from - JACBoardSolutions.com

IX-( MTH & SCI |

(A) Ribosome (B) Cytoplasm

(C) DNA (D) None of these

32.  SHINHIN & 3NUR W Sfia frad v F 83 3 2

A) 1 (BY 2

€ 3 D) 4

How many types of organisms are there on the basis of cells >

(A) 1 (B) 2

€ 3 (D) 4

i R A s

il ’ JI ol
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(A) @né s (B) IS FAD
©r T (D) EARI Hah
The areas where plants grow are called

(A) permanent tissue

(B) temporary tissue .

(C) merismetic tissue

(D) connective tissue

i g scr 62 of 72
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34. O W Fds -9 8 ?

(A)  HIA=hIEHI
(B) e

(€) m

(D) 3™ @ uft

What are the simple permanent tissues ?

(A) Collenchyma (B) Parenchyma

(C) Sclerenchyma (D) All of these

IR sct 0 72
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35. @ffdo i snurp s B-d } 2
(A)  T§Em * (B) IR
(€) e (D) =W
What is the basic unit of classification ?
(A)  Phylum (B) Order

(C) Species (D) Genus

36. HIT§ %A1 AT R ?

g scr
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What kind of organism is fungus ?

(A) Heterotrophic
(B) Eukaryotic
(C) Saprophyte
(D)  All of these
37.  AIDS %1 @%av 78 g
) A
(©) FF-NF-I |

R

(B{ T TR A
(D) ¥ & ot
SCI . 1,685 of 72
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AIDS is not transmitted by
(A)  Sexual intercourse
(B) Hugging

(C) Breast fce&ing

(D)  All of these

38. i@ @ g1 T U 2

AA) RIS (B)
- (C) UAEw (D)

i o gt scr

R He
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Disease caused by bacteria is
(A)  Influenza (B) Common cold

(C)  Anthrax (D) AIDS
39. Yt i foret wag weh A gR R 2
./{ﬂ) 75% (B) 65%
(C) 85% (D) 50%
How much of the earth’s surface is covered by water ? -
(A 75% (B) 65%

(C) 85% (D)  50%
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0. gl Ht I IS gar N wgEl F www @ @ 2, FEAE
(A}  F@ (B) Sframm

(C) Wiplds Ay (D) @

The upper fertile layer of the earth which is formed from the

weathering of the rocks is called
(A)  Soil (B) Fossil

(C) Natural gas (D)  Minerals
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